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QUESTION 1

Cisco Media Processor prepares linear video to be distributed in which three formats? (Choose three.) 

A. Microsoft Smooth Streaming 

B. HTTP progressive download 

C. Adobe Dynamic Streaming 

D. Apple HTTP Live Streaming 

E. TFTP 

Correct Answer: ACD 

 

 

QUESTION 2

Which product is used to convert from RF to optical signals in an HFC network? 

A. node 

B. amplifier 

C. tap 

D. QAM 

Correct Answer: A 

 

QUESTION 3

What is one of the major market drivers for access network business unit? 

A. increase in HD content 

B. increase in analog content 

C. decrease in competition from satellite broadcasters 

D. decrease in digital content 

Correct Answer: A 

 

 

QUESTION 4
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What is DPI? 

A. Digital Primary Initiator 

B. Digital Program Information 

C. Digital Program Insertion 

D. Digital Primary Indicator 

Correct Answer: C 

 

QUESTION 5

What is the primary advantage of MPEG-4 part 10 over MPEG-2? 

A. MPEG-4 uses twice the bandwidth 

B. MPEG-2 can have more programs. 

C. MPEG-4 part 10 uses half the bandwidth. 

D. MPEG-2 can have fewer programs. 

Correct Answer: C 
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